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Code : 211304

B.Tech 3rd Semester ‘mminamm, 2016
N.M.C.T.

Time : 3 hours Full Marks © ¢ 20
Instructions :
(i) There are Nine Questions in ghjg Paper

(i) Attempt Five questions in qjj,

fiii) Question No. 1 is Cmnpu,!mﬁ,ﬁ

(iv) The marks are indicated in the right hand margin,

\. Answer any seven of the following as directed:
2+7=14
(a) ___ converts the programs writlen in assembly
language into machine instructions.
‘ A1) Machiric compiler
(i) Interpreter
(iii) Assernbler
(iv) Converier
(b) Whatisclassinc++?
() When you defineaclass. you define a blueprint fora
data type.
P.T.O.

www.ErForum.net

www.ErForum.Net

e s T g

Page 1
(i) Whenvoy define a class, you make get more
ﬁutﬂiumﬂit}r
(i) Whenyoy define a class, youdefine the logic
(V) When youdefipe a class, vou make debugging
(c) Thecorrect statenient is:
@  scanf("Enter the value of A%d",a)
(1) scanf("%d; %d, %d”, & a, & b, & ¢}
(i) (i) and (ii) hoth
AV} none of these
(d) In which of the fgllowing method, we approximate the
curve of solution by the tangent in each interval
(i) Pi card's method |
(1) [ricr's rnethod
(i) Newion's method
fiv) Runge Kuttamethod
(ej In Regular-falsimethod. the first approximation is giver
by
_allb)-hra)
M) )
)-aff{a)
@ ot

@ 5= )
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() TheNewton-Raphson €M for i the oupe oy

of N is

{i} Xpal “_'%[x +‘H¥F||r_'!lfp}

(i) T =<(ox, - N1x )
3

(i =(x,+ "-». ‘x,)

(V) Yo =‘%(EI,, + N/ ,1:3:.)

(g) Gauss-Seidal iteration CONVETRES Gl if the coefficient
matrix is
(i) Upper Triangular
(ii) Lower Triangulur

. (i) Diagonally dominant

(iv) none of thiese

() In fitting 2 parabola y=ax® + bx + c 1o n sets of
ohservations, the normal equations are:

() Zy=wx" +hIx+c, Lov=ax’ + ALy +cEx.
Ix'p—alx® +hEx' + oIy’

(i) W = aZx’ + bYx + ne. Exr’ =gk’ +HEv +cEx.

!

¥y =gyt AT + Xy’
Code : 211304 3 PT.O.
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(W) Ey? =aXy’ 4 gy

Sreeo, Tve=eiy' 4 hXe’ +oXy
b TR T T P

X _l =iy’ 4 - o
‘ Be, oxy |
3 Ty =alv? +bY.

SYipe.  Ewv=alv 4 ANc 4+ ety

I’ ye Xyt
N r“.:.-ﬂ w [ ._.'1

1) Inthe New
¢ Ton's F orward difference jormula what is u__
. X—x
{1y W=——r
h

() w=x-x

(¥~
(m) u=- _,_j_.j_
I
X-x
W) = —
E“] I

(j) While using Simpsoi s threecighth nule, the given interval
of integration rpust be divided into sub-interval whose
number mismuluple of
(19
(i) 2

(). 3
() 4

a

2. {a) Discuss the advantages and disadvantages of machine

-

language. T
(b} Develop a flow chart to select the larpest number ofa
given sc10f 300 numbers. 7
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oy Ao & -
%, (b) Prove the following relation:

. a,,;=+b:~:*¢#(]: Abe are real and ab 2 0.

equation | .
7 I A, = AL, -4,
ihle depreewhich
: 1 s ? 1 !-J:.;_g'[[‘lll d'-'.j_.‘.n'h W
() writea'C’ program 1 = th”““m““g? 7 7. (2) Find the polynomial of the oW i 321,
. takes the values 3.12.15.-21 when x hias e SEEE
! b R RO P . ?
4 sy Lo,
-1 respectively using Lagrang® Interpo!

i) Accept length and breadth of o rectangle as input

. v the ared 2ftercaleulat
and display the culation )= ae™to the

(b) Tind the curve of best fit of the 1702 flx

- e f T
3 2 . P L uJ_.L_ =
(i) Accept? numbers and caleulate their average, following data by the methe* ot Leastsq
F 4 ! = 7 () 25 3.
4 (a) WriteaC++ program toconvert deeirpal number to binary . 1.0 .
- | i 3 f o
number, 7 : fixy: .37 1146 510 7.6
]

e - o LT q-rvzrh“*___.'._‘h'l.' o
(b) Write a C++ Programto Find Transpose ofa Matrix. 7 8. (a) Obtain thefmpsons R

(by Asclid of revolution is formed by rotating about the X-

axis. the lines N -0 and x=1.

h the following

. Prove that Newion Raphson method has quadratic
3 _ e the npea hetween the X-
convergence and herice find the real root of the equation log mg thgiarea betwes : ;

the points Wil

L

and o curve through

x-cos x =0, 4
conrdinates: | |

; PR ——

W | 000 025 | 030

: ._-—l—_-
; 9089 | 0.8415
v [ 10000 0.9896/ 0.9589 | 0.90 1

6. (a) Apply Gauss Seidel iteration method to solve the following

eyuations: : 7 B T roprarryeoe

i ety ying the answer
10X + y + 2z=44, 2x+ 10y +z=531, x~2y=-102=6] Fstimate the volume ol The solid formed. giving the 7
Code: 211304 5 PT.O. 10 three decimal places.
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9. (a) Derive Euler'smethod for solving the initial value problem

7
Y= [xy0OL ¥(x, )=,

(h) Solvethe hﬂllﬁd:ll':f—\-'ﬂhl& problem '_\;1 r{x }-64}"""] D=0}, 3{{]}
= ¥(1)= 0 by the finite difference method. Compiite the

value of w{0.5} and compare it with true value. 7
EL L ]
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